Practice Paper of Science
Class- X(2018-19)

Time: 3 Hrs M.M. 80

General Instructions:
i.  The Questions paper comprise of five sections: A, B, C, D, E. You are to
attempt all the sections.
ii.  All questions are compulsory.
iii.  Internal choice is given in section B, C, D & E.
iv.  Question numbers 1 and 2 in section -A are one mark questions. These
are to be answered in about 1 (one) word each.
v.  Question numbers 3 to 5 in section-B are two mark questions. These are
to be answered in about 30 words each.
vi.  Question numbers 6 to 15 in Section-C are three marks questions. These
are to be answered in about 50 words each.
vii.  Question numbers 16 to 21 in section-D are five marks questions. These
are to be answered in about 70 words each.
viil.  Question numbers 22 to 27 in section E are based on practical skills. Each
question is a two marks question. These are to be answered in brief.

Section-A
1. Write one approach towards the conservation of forests? (D)
T TR & o T Iur fara |
2. What is the significance of transpiration? (1)
IS BT T HEd © 2

Section-B
3. How does binary fission differ from multiple fission? (1+1)

fades, dgavsT A fFIUHR AT 2

4. How is MgO formed by the transfer of electrons? What type of bond is formed and what
are the ions present in this compound? (1+1/2+1/2)
MgO SAdeH RIFIRY §RT {6 UHR 911 ST qHhdl g2 39 AT § [y UhR

3SR 3R DIH-PIF F S SURIT B &2

5. The refractive indices of glass and water with respect to air are 3/2 and 4/3 respectively. If
speed of light in glass is 2x10® m/s, find the speed of light in water . (2)
®TF 3R UM & AUac-ibdrg b IUes A 3/2 R 4/3 T (A H UHT T T T
TR I Pid & YebTR BT 97 2x10° m/s B

OR
Draw a ray diagram to show refraction of light through a glass prism and show angle of
emergence and angle of deviation in the diagram. (1+4+%)



BT & FUSH gRT BT {01 & 3uad= BT {0 3G 918U 3R I ffa ior ug
CEREEEURY

Section-C

6.What happens when Zinc is added to the aqueous solution of copper sulphate? Give a
balanced equation for the reaction. Name and define the type of reaction involved in the
above reaction. (1+1+1)

1 81T 9 foleh &1 HIIR ebe & STaid faera=8 STal ST 8239 Siffear &1 dgferd
IR IHeRu w139 3ifiifshar & UeR &1 T fafau ik 39 gw=sul

7. What happens when dilute Hydrochloric acid is added to the following?  (1+1+1)
a) Sodium hydroxide b) Zinc metal ¢) Sodium hydrogen carbonates.
Write balanced chemical equations of these reactions also.

1 g 8 99 Fufofea faae # gegiadiRe ofd SIem Sfdl 82 39
Sftfearat & dqferd Imafe geiwmRor off fofau |

a) ST BRI b) i urg ¢) TIfETH gEgIoH Hree

8. Write the answers of the given questions: (1+2)
a) Name ahormone which is injected to a patient suffering from diabetes.
b) If the cerebellum is not functioning properly, what activities of our body get affected?

fau g s & IR fafeu

2)39 B BT ATH T st srafes & Avft &1 fgar S g1

b) RS (STARTR) & Fafid S 9 HA T §AR WR B HH-DIH It foramd
YT Bl 8 2

OR
What are plant hormones? Write at least two of them and also name the hormone which
promotes growth. (1+1+1)

UeU gEF R 2 B al & 1 fafeT iR I g &1 of - forfaw o dielf &6
IS HTEHD 3 |
9. What substances are secreted by the gastric glands? What are their functions. (1%2+ 1%)

WX YR gRT B A USf WIfdd gld & » I - P @ 2

10. Write the number of periods and groups present in the Modern periodic table .State the
changes in valency and metallic character of elements as we move from left to right in a
period. Also state the changes, if any, in the valency and atomic size of elements as we go
down a group. (1+1+1)

MY 3iad ROl H Iufyd sradf Td a7t o1 Tveam fafau | forsht efrad & 914 9 aTd
S TR dcal Bt Faordbar 3R UTfcde Uhfa § g ard uRad= &1 fafey | 3t usR &t
ﬁlﬁ@qgﬁ:ﬂ%&nﬁwﬁuﬁwaﬁwwqﬁwﬁaﬁaﬁqhaﬁq%@u (afe dis
gRaa= 8 d |

11. An object 5 cm in length is placed at a distance of 20 cm in front of a convex mirror of
radius of curvature 30 cm. Find the position of the image, its nature and size. Also draw its
ray diagram. (1+1+1)
30 cm ahdl AT & AW GUUT & ATHA 20cm DI QU IR 5 cm A TH I

T T | 39 U gRT 94 aTd Ufaford &) Rufyy, wawma v e sta Fifn |
T RT3 T AT

OR



How are power and focal length of a lens related? You are provided with two lenses of

focal length 20 cm and 40 cm respectively. Calculate their power and which lens will you

use to obtain more convergent light? (1+1+1)
ForetT <1 Y Trehe T ST SHehT &THAT § AT q¥ae g ? AMTh! 20 cm 3¥ 40 cm & & o9
3T T | =TT ST T G AHAT AT A1 | ST IAT o6l § & o6 | A7 T

arfers rfermmeor * forT geqwTer 4 2

12. Answer the following:
a) What is resistivity and what is its unit?
b) Why are coils of electric toaster and electric irons are made of alloy rather than a

puremetal?
EREREIIELY
a) TTALTeshaT FAT ¢ ? THHT THS FATE |
b) Ta=[a areex ua o it &t geforai & Awior § evqelt it eroar frer-arqet
T TIRT AT 6T STar g 2

(2+1)

13. Name the main constituent of biogas. Why bio-gas is considered an ideal fuel for
domestic use? (1+2)
AT T o {&T AT AT g 2 T TART § 77 99 T 9T T4 F7 747 74T 82

14. Explain:
a) On what factors does resistance of a conductor depend?

b) What would be the new resistance if length of a conductor is doubled and
thickness is halved? (1+2)
AT FITT
a) foret =Terr 1 gfadrer R et 9% AR Far g 2
b) =t TRt =Tere T TS AT ST TS AredT T &F S0 qr 39 AT o7 797
gfarer T R 2

15. What are trophic levels? Explain why a food chain should consist of only 3-4 trophic
levels. (1+2)

T €T T § 2 ot o et e s@ar § 3 A7 4 9T &7 FT g ATMeu?
OR

Distinguish between biodegradable and non-biodegradable substances.Give two examples
of each. (2+1)
ST ST sor Ao Tt § 9g w0 N 1T F JI-aT IR0 e |

SECTION-D

16. Answer the following: (2+3)
a) What are amphoteric oxides? Give two examples of amphoteric oxides.
b) Identify and name the compound of calcium which is used for plastering of
fractured bones. With the help of chemical equation show how is it prepared and what
precaution should be taken during the preparation of this compound ?

37 forfe .
a) SYTTHT AFATEES FATE 2 THE af IaTg<0 o |




b) FICeTIH & IF ATRF ST 2l ST AT HI SIS | TIH 2l & , BIIgATT T
3T AT forfew | TemeReE TR gy fRmreu i =9 ey =T S
g 2 T ATRE &l a97d G0 56 TR 67 qraem={r a1 A7 2

17. Answer the questions: (2+2+1)
a) Identify the functional group and give [IUPAC names of the following
compounds.

i. CH; COCH3

ii. CHj;-CH,- CH,-OH
b) Give two reasons for carbon forming a large number of compounds.
c) Write the structural formulae of two isomers of pentane.

T % AL AT
a) 3T T AR F THRATHFEHE F TgaT9 F2 390 TUPACATH forfem |
i. CH;z; COCH;
ii.  CH3-CH,- CH,-OH
b)  FTE % AIRRT T FEAr FA Afyw g, 39 & Fwor ot
¢) U & I FHTEIAL F HLAATHS I (@0
OR

An organic compound A on heating with Conc. H,SO, forms a compound B which on
addition of hydrogen in presence of Nickel forms a compound C. One molecule of
compound C on combustion forms CO, and H,0O. Identify and write the names of A, B and
C. Write the chemical equation for all the chemical reactions involved. (3+2)

UF FEH AF A A% H,SO, % AT TH i 9T A B d9TGT g , T8 IR
e &7 Sufeafsr & gregoe & a1 UF AW ¢ aararg |9 C T UF (0] Tgd
FaT T CO, 3T H,0 FATATZ | A, B ¥ C FT TgATHT i< 39 917 ferfem) ==
AT TRATSA 3 TrETa e JH T o |

18. Answer the given questions: (2+3)
a) Draw a well labelled diagram of germination of pollen on stigma
b) Why is DNA copying an essential part of the process of reproduction?

o et 3 3= forfer
a) AR TT TLETHRT o SFFHLOT T ATHI o0 o TAT20l
b) DNAFT TTAHfd SATHT, ST FFAT T saeTsh W7 #7941 2 2

19. Answer the following : (2 +2+1)
(a) Explain the terms analogous and homologous organs with examples.
(b) What is speciation?
(c) What is genetic drift?
FReferfea & s forfeam
a) THET 3T THSATT SR FT 3L Aigd AT HItoU|
b) ST IZA T 82
¢) At e #8892

OR

Answer the given questions: (3+2)
a) “The sex of the children will be determined by what they inherit from their
father.” justify this statement. Draw a flow chart showing determination of
sex of a new born baby .



b) Name the plant used by Mendel for his experiments. In a monohybrid cross,
what is the phenotype and genotype ratio in F, Generation?

e % s ot
a) “agi & oRT =7 a1a ux Ratia g & a8 9ow far & deragra =9 & #17
TTH A &7 139 HAT ol ATEAT IS | U FAT FTE il Fgradr & FasiTd 1279
# o et ot gatzw
b) 3T 9 &1 AT Forfew 59 3T 7 199 TR # TRt BRI U e |
F,dE § e oY SAAIersT dqdTd F#47 g2

20. Explain with suitable diagram (3+2)
a) How is rainbow formed?
b) Why do stars twinkle?

St o Y \graar & et fiftvg

o
a) TRgAY e YR aaar g 2

b) amw T fewfewra 82

21.Write the answers of the given questions : (1+2+2)

a) State one main difference between AC and DC.
b) Give two reasons why different electrical appliances in a domestic circuit are

connected in parallel?
c) Explain why, two magnetic lines of force do not intersect?

Fraferfea % s fofeu:
a) AC #T DC | U# &7 3fqv forfem)
b) = faeE aay § AfHe FeE Suwaer 9rd w0 § #7411 ATd 8 2 T
a1 wreor ferferm
¢) T FFEIHIT T@TU U TAL Fl FT Al el ATEIT HTou ?
OR

(2+3)
a) State the rule to determine the direction of a magnetic field produced around a

straight conductor-carrying current.
b) Explain with diagram Fleming’s left hand rule .

a) et T =Terss & B ey At d g u¥ [Fehia & it faerw
ST e & A &7 =T #i)
b) FATHIT % 9TH ged =9 &t = gfga =amear s

SECTION-E

22. What do you observe when you drop few drops of HCl to a test tube
containing . 2)
a) Blue Litmus paper
b) Distilled water
¢) Phenolphthalein
d) Sodium Carbonate

FAT T (& AT HCL HT T g8 ILEAAT § ST ford (e fFeaaT g |
a) e forens e
b) Ed A



c) RIS EIR
d) a9 FraiHe
OR

Write your observation, when you add quicklime in water contained in a beaker. Write the
balanced chemical equation and the type of reaction.(2)

ST et forfere, Sta st foret e e 931 39 7 9§ STdae | 39 Afaihar
Hfera FHEEwT 37 stfsrfeRar &1 yere off ferfe)

23. Why the angle of refraction is less than angle of incidence when a ray of light passes
obliquely from air to glass slab?(2)

ST TAe=dT SranTer Foheor &= o SIaTat [eeh g1 gaT | i | (o<l g af sraaq
FIT ATTTA 0T & FHF FI7 gIaT 82

24.A student has to connect a cell of 1.5 V each to form a battery of 6V.What would be
the correct way of connecting these cells ( draw it ) (2)

e fa=meff 7 6V Y U G 999 F UL . 5V F T h® T FT SAISAT ST | T FAL H
TSI T T TET LT AT T2 (3refea Frferm)

OR

Distinguish between an Ammeter and a Voltmeter. How do you connect them in an electric
circuit?

e 37 Areedter § steaw =g fifrw) == 21 F1 o e afvoer § ey SEwe

25. Why do we use KOH solution and germinating seeds in an experiment to show that CO,
gas is released during respiration? ()

9 % 39 94 |, 5ed co, Mewfaa gt €, Kon A== i sighia A &1
TEIHTS 1 R STaT § 2

26. Draw well labelled diagrams to show various stages of binary fission in Amoeba . (2)

STt § fgEe it At staerett &y amita = g gtz |
OR
Name the process by which hydra reproduces. Draw diagrams to show reproduction in
hydra. 2)
2T | A4 it fafer 1 amw forfew | gresT # S\ &1 = g g9z |

27. Write your observation. when hard water is added to a beaker containing soap solution. (2)

ST § A1 & fSea" | FoX S W 9% g arer seqv7 &r o




